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Section A: Muitiple Choice Questions (10 x 2 marks = 20 marks)
Read each question carefully. For each questlon, 4 options are given.
* One of them is the correct answer. Make - your choice (1 2 3 or 4)

- Shade- the correct ovals on the Optlcal Answer Sheet SECEE
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1 Tthousands 34 hundreds and 35 ones is the same as i ,,
T (1) 7069 l,.'.. PR ._' . <. .- e - el : e

(2) 7375
. (3) 10435 - A ()
.. (4) 10750. ....... : '

2. How many quarters are there in8 wholes'? -
_"'(1) 32
@) 4 . _ : 2

3. How many seconds are'there in 4 min 2557
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4. What is the size of ZABC?
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6. 1 amtacing North now. After'] tum270-° iiti-clogkwise, which's -
7 diectonwil tbe fading? . .o o -
(1) East S e S
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6. Study the figures below. Identify the figure that has.a'palr‘pf perpendlcular lines -
- '. and a palr of paraliel Ilnes

e e

.. Figure 1 ~ Figure 2

.. _Figue3 ' Figwed: . .

{1) Figure 1
(2) Figure2

(3) 'Figqrés ‘ - - - ( ) |
. (4) Figure 4. o G ol




7. Given that each shaded square is 1 cm find the area of the
. shaded ﬁgure shown below. -
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1) 17.cm?
(2) .18 t:m2 . | L |
(4) 24 cm? . -

8 - A number when rounded off to the nearest ten is 35 400 Which of
.. the following could be the number? .
(1) 35359 ) o
=-(2);35395f.,gfd_:?s; D e T e
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A shopkeeper has 134 boxes of pencils. Each box contains-
12 pencils. How many pencils does the shOpkeeper have

. altogether‘?
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7Adam Bala and Chong Meng shared a ple for Iunch
B ’Bala ate’ g— of the ple and. Chong Meng ate % of the pte
. What fractton of the ple dld Adam eat'? )
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y n-Ended uestlons (25 X 2 marks 50 markJ

11. Findtheva!ueof§+§_ )
o ‘ 8. 4

_Give your answer as a mixed number in the simplest form. '

.Abs: ..

o 1 2. . Express 3% as an improper fraction. -

. . -
-
- - .

...~~~ Read the:questions carefully and wnte the correct aNSwer m the blanks prowded...:l .
S '-3Show all working clearly R LT R ST e
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,. hows the mass of fruits sold US&ﬂ'Ielnformahon to

he bar graph below
answer Q13'and Q14. . . - T S
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13 " Find thé"total mass of apple‘s,ﬁch'erries, lemons and grapes sold. .
. ""14, How many more kilogrammes of pesich thain lime weré spld?: : ER




15. Complete the figure below to show that £XYZ measures 75 ° The line XY has
been drawn for you Label the Ime and mark the angle '

-116_,;'} In-the figure below, whichv_ar!gl;le is greater‘than'_a right.é.r_lgle?, .




17. Draw a line parallel 1o SR, passing through point Q.
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18, _in theﬁgure below, draw a line QS such that it is 'i)eﬁ_ieﬁﬁii_.:ﬁlar to RT. N N




19. Look at the shapes given below.
a) - Wl_jich’is a__squ'ére’_?- -

STy 7 Wichis arectangle? T = R ‘

- 20 i andthesum _of_afi t:he.,.cq'mmon ‘fa;;tors,bf 18 -ahq_;{za.'-r .

e T Ao " L . . . e . - - L P - PR e
L e . T Ay - . . aore LRI - ermet e o e T T e

10

192Q



21. Hui Ying had baked some cupcakes. She ate 3 of the cupcakes and packed the
: rest equally into 6 boxes There were 17 cupcakes |n each box How many

cupcakes dld HUI Ylng bake‘? _ S

_ Ans:

__2"2.‘ ‘A bagof sweets weighs g kg. What is fhe_jctal mass of 4 such'bags cf_ :

o sweets? . . .7

posi_____ coag

23 \How many more . need to be mcluded such that % of the shapes in the box

aref:]‘?

. Ans:

11




24, Peter boardeda bus to go to the library at 12.35 p.m. The bus j journey took
45 min. What time did Petér réach the Ilbrary'? '
(Express your answerm the 24-hour clock )

Ans;

25, The table befow shows the distaiice Mr Lim jogged each day over a penod of
: 4 days The dlstance Mr le Jogged fo!lows a pattem

-

" Dlstance (m) 400 525 775 | 1 | 1150 N T

' Based on the pattem what is the distance Mr Lim jogged on Day 57

12




26.  In the figure below, ABCD and WXYC are squares.
_ .Given ZWCB is 35 °, find ZDCW..
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27 Study the figure below and answer the questions.
(a) Whlch Ime IS perpendlcu!ar to AG‘? -
(b) WhIGh llne |s paral!el to CD” DA

T et T et e T e T L et e DU P L AR T . L L 1
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Ans:(a)._._

" (b)._.

* 28." Inthe figure below, ABCD & a rectangle: Find" Zx.

A e e B

'Ansi 5
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3.

Ans: _ .. . m

Mrs Lee has some balloons She can share all the balloons equally among

- 4,6o0r8 chlldren ‘without any remalnder What is the Ieast possible number of

balloons Mrs Lee has?

.- Ans:

JAn odd number isa multlple of 3and a factor of 45. The number is greater

L ~than 10 but !ess than 20 What IS the number‘?
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32.  The total age of Jane and her brother is 38 years now. 4 years ago, Jane was
-twiceas old-as her brother. ‘Howold is Jane's brother now?
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Ans: - . _yearsold

33 Fat;mah and Raw had $3500 atﬁrst After Fahmah spent $1 556 Ravi had: thnce'. -
as much money as Fatlmah How much money had Fatimah left?

Ans: §

16"



34. Cheryl bought 1 4kg of potatoes on Monday She cooked 5 kg of potatoes

s each day on: Tuesday, Wednesday -and’ Thursday What is- the mass of the'}_‘,f woe

o ’_‘:"potatoes Ieft on Fnday’?

35. The area of a rectang!e |s twrce the area of a square of side 6 cm Grven that
| the breadth of the rectangle is" 8 cm what |s the Iength of the: reotang!e'?

rr

8cm

I

4 Bom b

Ans el cm . )
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NAME: CLASS: Primary 4

: _,'Sectlon G' Problem Sums {30 marks).-.

:-..;-_-_Read the problem sums. carefully. Show your workmg clearly and wrlte your
. _answers in the spaces provided. The number of marks ava:lable |s shown m:
: f'brackets[ Jat the énd of each question or part-questlon LY e

b. A shopkeeper had 450 cartons of bottled mineral water. In each carton, there
. were 36 bottles of mineral water. He sold 35 cartons of mlneral water, how
many bottles of m:neral water had the shopkeeper left?

18



37  Mr Lim drove from Singapofé'to'Malacca He finally arrived at .Malacca at
o 04 10 after dnvmg for a total of 5 hours and 30 mlnutes Given that _
Mr le took a 45-mrnute rest dunng hIS joumey, ﬁnd the tlme he started

e T e

N ._:hlS Journey from Smgapore




- 38. Belie and Yan had 270 game tokens altogether. Yan had 30 game tokens _

fewer than Belte Yan used ‘—1- of hergame tokens at the arcade how many

game tokens dtd Yan have e

20




39. Harold has 346 lollipops and Fubbi has 712 lollipops. How many lollipops must
Fubbi give to Harold so that Harold.will have 56 more lollipaps than Fubbi?
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40.

Mrs le mlxed 1 —;— lltres of syrup with 2 > litres of water to make fruit punch for

| herpﬂy .,iq;_a;r_..guje_s'_ts.d;;a'n:;.z%ﬁ|'i.fr__es:é,;fif;be:_f'rmt_.éuﬁéh'.,idg’ﬁlag meparw S

L )b How.mich: frait pianeh d:d ‘Mrs, L|m~ make’2

"+ b)- * ~“How-much fruit punchiwas left after the- party7

Express your answers in the simplest form.

22 -



41. A total of 460 children and adults went for a learning journey at the park. There
were 80 more chlldren than adults at the park Grven that the number of boys-'

R

was 5 hmes the number of glrts at the park, how many boys were at the park‘?

23



42,

Susan had a collecticn of 1310 red, blue and yellow beads. After Susan gave

away 350 red beads the number of red beads was 240 fewer than the number K

" -of blue beads leen that the number of yellow beads was twu:e as many as_"'-" :
' the number of blue beads how many red beads dld Susan have at ﬁrst‘7 S

24



43. Jamie baked some piee. % of fhem wéfe chicken pies.

o g f. them were beef ples and the rest were mushroom ples R

o :"‘,{ ;.-She baked 14 more- beef ples than mushroom ples | '.
- ,How many ples did she bake altogether'? e

N\ SIS b

e Ty
" Settérs: Mrs Emily Tang, Mr Philip Ho, Mrs-Phyllis Voo & Mrs ChiaSeow Wi -

25
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Q14.ANS: 6kg > 10-4=6
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- Q1%a. ANS: D Q19b.ANS:C
Q20.ANS:12 2> 1+2+6+3=12
Q21.ANS:105. = 17x6=102, 102 +3 105
Q22.ANS: Z—kg -)%+%+3/5+%- -2-

Q23.ANS:2

Q24.ANS:1320 = SEEPICTURE
. . 2% A

."_":'_; "st ANS 16501_n > 375 250 125 375 . 125— 500 1150 Y 500 1650;‘}'
026.ANS:isEe L . :
Q27a. ANS : GF Q27b. ANS : EF

Q28. ANS: 32° | e
Q29.ANS: 458m > 186 + 43=229,229x2=458 ~© - 0
(Q30.ANS: 24, > 4,812,16,2024; 6121824, 81624

Q3LANS:15 4513159
. -Q32.ANS:14 3> 30+ 3=10, 104 4= 14

 Q33. ANS : $486 3500 - 1556 =1944

12 2 4 5 8 8- 8. 1 -

QBLANS:Skg D132 2og5 8 o 2.4

" -Q35. 9cm-)6x6 36 36x2 72,72+8=9

- -Q36. ANS : 14940 ; 450 35 415 415x36 14940 '

L _Q37 ANS:2155

{_h ;/\'/—‘_‘\I \l'/- . ~.\ I_/__{__‘ _:—‘}l
2 I-SI 2200 3-.!.40 1360 “DO K GQ‘OO ' OLH o

' Q38 'ANS:96. % 270-30=240,240+8=30,30X3=90
’ ‘Q39 ANS:211 -) 712 + 346=1058,712 - 346 = 366,,1058~366 = 692, 692 + 2~346,\‘-, L
' . 1058 -56 = 1002, 1002 =2 = 501,712 ~501:= 211: ' S

_.__Q40a ANS: 3—lltre e L -Q"‘.Ob;ANS-l'S Z_u;re_
2-+1—_2 2 +_1— =3=, | 31—21=1i=13._

-'_:'__:_Q41 ANS: 225-}460 -80 = 380;'38022=190, 190+so 270 270 6 =45, 45x5—225
'Q42 ANS: 560 . 240x3=720,720+350=1070; 1910* 1070 £890, 890+ 45210 L
210 +350= 560 - SR .
Q43 ANS: 56 P 14227, 7x8356;,

' THE END _'
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